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Time : 1 Hr. 30 Min.
WY f73% / GENERAL INSTRUCTIONS :
L. #9331 A, U6 &1g, Fq@HiE aql Gim {60 OMR I 9@ 8 K4 W 9%
W ferd ( #9 HOA QU GFRT OMR IR 9FE § Qe g w et )
Write your Name, Roll Code, Roll No. and Registration No. on the OMR
Answer Sheet in the space provided. Put your full signature on the OMR
Answcr Sheet in the space provided.
2. FH 40 ag-fawein wea §

There are 40 Multiple Choice Questions in all.

3 wWtwa sfaad §  vRE T | S E Y |

All questions are compulsory. Each question carries 1 mark.
o v 8 ur fawes (R4 AR E | EE § T faweg B S0 593 OMR IW
qIE G RO ET &1 | e @ T Wer-wr wow % @ wam w0 Fea w1 owEm

afaa R

Four options arc given for each question numbered 1 to 4. You have to
blacken darkly the correct option on your OMR Answer Sheet. Usc only

Blue or Black Ball-Point Pen. The use of Pencil 1s not allowed.
qfen wa B1g) @ WA OMR I Ui dww & der S | WE-91 HW AR

TR A GHdE
on hall hand over the OMR Answer Sheet to

Beforc leaving the examinati r
the invigilator. You are allowed to take the question paper with you.

S aftva Friwt & argEds T SR
QAT ATIHT ——c g f bR

Adhere to the instructions above very carefully otherwise your
valid and it will not be evaluated.

OMR Answer Sheet will be in
13 of 24
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Seience @

1. tmmsg.tm“k

(1) e (2)
() ey Ryl (4)
S.1Lounit of acceleration in

() m (2)
3) my/e? (4)

2. B d 3 wfon ofe ey

(1) feamm (2)
(3) o L (4)

Which of the following is not a vector ?
(1)  Displacement (2)

(3)  Acceleration (4)

3. Wl Ewd eR € e mh k

(1) wm @)
(3) fammm (@)
The distance travelled in unit time is

(” speed (2)
(3) displacement (4)

4. Padavhaaitt>

Which of the following is correct ?

(1) s-u+-%ac’ (2)
(3) Seut+ -;-ar’ (4)
2003(Ph11

iz deisy

Wzgd ) kg

m/s

rn’/alJ

3

3

Speed
Weight

go

velocity

acceleration

1
Sa -
ur-o-?a!

a_ 1 .2
Seut +2ax
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0 Howence

tonlnlmmrnnuumnnm
If a fvve of 12 newton acts
prwluced g

(N 2myy?

h

I kR CUTT ) 06 U 12 new

on a hody of muss 3 ki, the wecelerstion

(2 025 m/w¢
4 OSm/e?
b WM AN A B Ccamp 40 S

WA 6 kg, 10 kg, 15 kg ™0 18 kg B
f«mmmmm;

The masses of four bodies A, B, Cand D are 6 kg, 10 kg,
respectively. Which will have maximum inertia ?
n a

18 kg and 18 kg

{2) B
7. mmﬁamm-wﬁmmﬁm‘tWMt;

(1 wwew (@ ™

(3) (4) vl AWt
Which law of motion of Newton's defines force ?

(1) First {7 Becond

(3) Third (4) Nonc of these

8. f&®@ m xemmm w aw e A » §, ® w4 = o

What is the momentum of an object of mass m moving with a velocity v ?

(1)  (me)? 2 mo?
(3) %ml.a'2 4 mo

9. wiifys ranety Rat® G w1 AR R
The value of universal gravitational constant Gis

(1) 6-6‘3"mtl(:)‘"Nm’/kg2 (2) 6-67x10"'' Nm? /kg?
{3) 6-67x10'* Nm? / kg’ (4) 6-67x10"'8 Nm? /kg?
ISof M
200¢{9)-0
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10. 1 Reefom gemmr wvet fovg W ur b

(1R @) 98 A

()  9-8=Ew (4) 098 4z

The weight of | kg mass object in

{1) 1 newton (2) 98 newton

(3) 98 newton {4) 098 newton
11, Wi @ T & oeet d Y@ et dfea it k2

() fafaw st (2) aw w9

(3) Wiy Fad (4) TEabE Fe

Which cnergy is stored in the stretched rubber band ?

(1} Potential energy (2] Kinetic energy
(3) Hcat energy () Chemical energy

Gl v & i A (v, Ak (A ) A T (n ) S e @R 2

12.
The selation between wave speed ( v ), wavelength (A ) and frequency (n
of a wave is
n
(l, V= T]l ‘2) v -1._
(3) n = Ui {4) A= m
13, & mdmm;r;manqhinﬂmmﬁmt >
what is the relation between tme pericd ( T ) and frequency ( ) of
wave 7
i
! 2 f==
 f=33 T
1 (4) f=2T
3 f=FF
16 of 4
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h’ﬂfﬁf‘({aﬂmm‘? Scrence

14.
()
() s&&
(3) Wm
4) dwdw
Which of the following 1s matter »
1 S
13l mell 2)  Cold
( Lo
) Love (4)  Cold drink
15.  Frfafaa & @ s k>
1y 9 ® pda 2) e
(3) 3t (4) "R
Which of the following is a colloid ?
(1)  Syrup of sugar (2) Brass
(3) Smoke 4) Gum
16. dfs & & TET
(1) (2) ®EgE
(3)  rem @) ™
The example of a compound is
(1) copper (2) hydrogen
(3) oxygen (4) water
17, Faciam A ofieifoa &olf @1 Hew g &
(1) 100 nm T (2) 100 nm ¥ B
(3) 100 nm & WK @) FHIW I
The size of dispersed particles in suspensions is
(1) more than 100 nm (2) less than 100 nm
{3' muaj to 100 nm (4) none of these
2003(9)-11 17 of X
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Science @

18.  ®WURW auw @ Trarataew g k

The chemical formula of common salt 1s
(1) MgCl, (2) NaCl

19.  ®WF-W wa o wEw] & wa F o A §

(1) FEgo= (2) A
@) M (4) TS
Which clement exists as free atoms ?

(1) Hydrogen (2) Oxygen
(3) Argon (4) Chilonne

20. S'BS g NaCl &y @

(1) % et (2) % wYe
(3) % o @ 19=
585 g NaCl is equal to

(1) 3 mole 2 5 mole
(3) 1110 mole (4) 1 mole

21, 6-022x10%7 &l & @E & ¥ F@ AR D
(1) = (2) 39
(3) WHT] (4) @ FR b

Which is a group of 6-022x 1033 particles known as ?

(1) . Mole (2) Molecule

(3) Atom (4) None of these

[2003(9)-0} 18 of
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@ Science

mﬁwémauﬁmfw«ﬁmrrml?

T _
he Maximum number of
of an atom iy

(1 2
3) 8

22, QU] & gy
clectrons that can be present in the third shell

(2} 6
(4) 18
23 A :
Mﬁm“mmmmﬁmm ?
Which
one of the following is a correct electronic configuration of
magnesium ?
l -
(1) 2.8 2) 2.8 1

24, &R &1 A g o 2 fe=y amae; -t qen >

)y wem (2) W=

3 =gH @y 4 A &% W
Which particle has mass but not charge ?

(1) Proton (2) Electron

(3} Nculron (4) None of these

25. fo@ a@ & o] F 6 g TE 6 WA &1 A & WHW] $AEA §m

Thec atom of an clement has 6 ncutrons and 6 protons. The atomic mass
of the clement 1S
(y © 2) 6

(3) 12 (4) ¥R & 1% A7 / none of these

26 FTITE & UTE §1IW HEAE R

a) s (2) (@R
@ AR (4 T S
19 of 24
2003(9)-11]

https://www jharkhandboard.com



Science

L JAC

The Power House of the cell is

(1}
(3)

Plastids (2) Ribosome

Mitochondria (4)  Golgi apparatus

27, IR FMe & wnt www ani o aved faesh W A

(1)

(3)

(1)

A= 10 (2) fefaraiain
T Y @) @ o
The membrane around a plant cell is named as
Tonoplast {2) Dictyosome
Plasma membrane (4) Cell wall

(3)

28.  facufea @ & @ geion @ um @ Y 2

(1)

(3)

(1

@ e (2) wfa wie
] @ g
Which one of the following is not a part of phloem ?
Sieve tube (2) Companion cell
Fibre (4) Ligament

(3)

29, @M 8 Fa& AS W AFAA & w9 FTO L 0

(3)

(1)

Feftry (2) vFEW
udtgfom (4) AS Fa®
Which one of the following tissucs transports water and minerals ?
Phloem (2) Xylem
Epidcrmis (4)  Collenchyma

(3)

2003(9)-11
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(1) ey .
(2) Aoy

U S @) T

Cork celig contain

M

tex 2)  Cellulose

) Suberin (4)  Lignin
3. Engmgn )

(N % wgs 2) e dwieR

B T e (4) T formivad

Spirogvra is

(1) a Fungus (2) & Thallophyte

3) a Bryophyte (4) a Gymnosperm
32, Uw-Fig w d

(1) wg (2)

(3) 128 74 (4) w®y

Which of the following is a unicellular animal ?
33. few w=y & Redet 39im o wmd >

3) famram (@) freg
2003(9)-11
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Science
L) AC

appendages ?

(2) Electric ray

Which animg) has poisonous
(1) Tapeworm
(3) Cockroach

(4) Scorpion

34. T I 3w wem &
(3) aqw | (4) wEEH
Slecping sickness is causced by
(1) Trypanosoma (2) Fungus
(3)  Virus (4) Plasmodium

35. 99w ® auw A
(1) vadaew (2) TR
(3) @nfEen (4) e
Causal organism of dysentery is
(1) Aspcrgiilus (2) Entamoeba
(3) Plasmodium (4) Round worm

36. NG NgH & fawr @
(1) 80 fesht R 640 fimft (2) 640 @it | 2700 ferit
(3) 250 fed @ 265 fard 4) 100 fEdt ] 150 ferdh
Expansion of ionospherc is
(1) 80 km - 640 km (2) 640 km - 2700 km
(3) 250 km - 265 km (4} 100 km - 150 km

{ ?@?[?L'!‘J 22 of
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10°C temperature iy cqual to

37, 10°C ATien aovay X

(1) 163 K
2
. o K (2) 283 K
‘ I9) 186 K
38. Ffafas & oYy wa @ t 3P
(V) A HraRtxA
(2)
(3) o (4 a2
)
Which of the following are not an element ?
(1) Copper (2) Oxygen
(3) Water (4)  Silver

39. M & g ® wtad gic @ e &

IR GGE i 2y @ wfa
(3) N Wi (4) "= wfa
called as

The revolutionary growth in milk production is

(1) Silver revolution (2) Green revolution

(3) white revolution (4) Blue revoluuon

40, 3fuchta sramis (EDB) &

(1) INH (2) HR
4
(3) FJU‘FTITIJ; (4) b e

El.hylcnc dibromide (EBD) 18

(2) manure

(1) ferulfzer
fumigant
(3) herbicide (4) e
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